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lHkhlHkhlHkhlHkhlHkh iz'u vfuok;Z gSaA

Section - A

 [k.M & v [k.M & v [k.M & v [k.M & v [k.M & v

Note: Each question carries two marks. Write

your answer in about 50 words.

izR;sd iz'u 2 vad dk gSA viuk mRrj yxHkx 50

'kCnksa esa nhft,A

1. Explain the following : 5×2=10

fuEufyf[kr dh O;k[;k dhft,%

fu;kZr ek¡x Qyu D;k gS \ ,d ns'k dks vius oLrqvksa
ds fy, fu;kZr ek¡x Qyu ds vkadyu dh vko';drk
D;ksa iM+rh gS A eku ysa fd vkidks Hkkjr ds bathfu;fjax
oLrqvksa ds fy, fu;kZr ek¡x Qyu dk fuekZ.k djuk gS A
bl n`f"V ls mfpr pjksa ,oa izk:i ds p;u dh O;k[;k
dhft,A

OR

vFkokvFkokvFkokvFkokvFkok
Explain Employment Function. How it can be

estimated? How do you compute different

employment elasticit ies ? Explain the

relevance of these elasticities citing the

example of post-liberalised Indian economy.

jkstxkj Qyu dh O;k[;k dhft,A bldk vkadyu fdl
izdkj fd;k tkrk gS \ vki fofHkUu jkstxkj ykspksa dh
eki dSls djrs gSa \ bu ykspksa ds egRo dh O;k[;k
mnkjhdj.k ds i'pkr~ ds Hkkjr ds lanHkZ esa dhft,A
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(i) Koyck's Model of Accelerator

dks;d dk Rojd izk:i
(ii) Consumption Function

[ ]L
0 0 0C = kY 1 + β(T -1 + ka

miHkksx Qyu 

[ ]L
0 0 0C = kY 1 + β(T -1) + ka

(iii)Concept of Stock of Money for Estimation

of Demand for Money.

eqnzk dh ekax ds vkadyu esa eqnzk LVkd dh
vo/kkj.kk

(iv) Importance of Review of Literature in

Applied Econometric Research.

vkuqHkkfod vFkZfefr; 'kks/k esa lkfgR;koyksdu dk
egRoA

(v) Short Run and Long Run Elasticities and

their Relevance in Policy making.

vYi dkyhu ,oa nh?kZdkyhu yksp ,oa uhfr fu/kkZj.k
esa budk egRoA

Section - B

 [k.M & c [k.M & c [k.M & c [k.M & c [k.M & c

Note: Each question carries 10 marks. Write your

answer in about  250 words. 3×10=30

izR;sd iz'u 10 vad dk gSA  budk mRrj yxHkx
250 'kCnksa esa nhft,A

Log At = 0.36+ log 0.87 pt-1 + log 0.98 It-1 + log 0.76 At-1

't' = (3.8) (5.9) (7.6) (6.4)

Adjusted R2 = 0.89

Where A = Acreage under the Crop, P= Price

of the Crop, I= Proportion of Irrigated Area to

Total Area.

tgk¡ A = Qly ds v/khu Hkwfe P= Qly dk ewY;] I=
dqy Hkwfe esa lhfpr Hkwfe dk vuqikr

OR

vFkokvFkokvFkokvFkokvFkok
Define structural break. Why identification of

structural break is important from policy

perspective ?Discuss some important methods

for identification of structural break.

lajpukRed foLFkkiu dks ifjHkkf"kr dhft,A uhfr
fu/kkZj.k dh n`f"V ls lajpukRed foLFkkiu ds igpku dh
vko';drk D;ksa gS\ laLFkkiu foLFkkiu dh igpku esa
iz;qDr dqN egRoiw.kZ fof/k;ksa dh ppkZ dhft,A

6. What is export demand function ? Why does a

nation need to compute export demand function

for its commodities ? Suppose you are required

to construct export demand function for

engineering goods for India. Explain the choice

of variables and appropriate  model for this.
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2. Given the Consumption Function

t 0 1 t tC = b + b Y + u

 show that use of OLS would

give incorrect result. Also explain structural

and reduced form equations that you would

develop to handle the problem.

;fn miHkksx Qyu 

t 0 1 t tC = b + b Y + u

 gS rks iznf'kZr

dhft, fd vks-,y-,l (OLS) dk iz;ksx v'kq) ifj.kke
nsxkA bl leL;k ds fuiVkjs ds fy, iz;qDr lajpukRed
,oa y?kqd`r izk:i lehdj.k dks le>k;saA

OR

vFkokvFkokvFkokvFkokvFkok

What are the major drawbacks of PAM model

of estimating demand for money ? In what way

the Buffer Stock model attempts to handle

these ?

eqnzk dh ek¡x ds vkadyu esa iz;qDr ih-,-,e- (PAM)

izk:i ds izeq[k nks"k D;k gS \ fdl izdkj cQj&LVkd
ekWMy budks nwj djus dk iz;kl djrk gS A

3. Briefly explain inflation forecasting ? What

problems are faced in making such forecasts?

LQhfr&vuqeku dks la{ksi esa le>kb;sA bl vuqeku dh
izfØ;k esa fdu leL;kvksa dk lkeuk djuk iM+rk gS \

Section - C

 [k.M & l [k.M & l [k.M & l [k.M & l [k.M & l

Note: Each question carries 15 marks. Write your

answer in detail. 2×15=30

izR;sd iz'u 15 vadksa  dk gSA viuk mRrj foLrkj

ls nhft,A

5. Explain the Nerlovian and Complex Nerlovian

Models of Estimation of Supply Response

Function. From the following supply response

function computed below using simple

Nerlovian model estimate the short run and

long run price elasticities. What policy

suggestion you would give to the government

for promoting the supply of the crop ?

iwfrZ izfrfØ;k Qyu ds usjykso ,oa tfVy usjykso izk:iksa

dh O;k[;k dhft,A ljy usjykso izk:i ds iz;ksx }kjk

vakdyu fuEu iwfrZ izfrfØ;k Qyu ds vk/kkj ij

vYidkyhu ,oa nh?kZdkyhu dher yksp Kkr dhft,A

vki ljdkj dks bl Qly dh iwfrZ dks izksRlkfgr djus

ds mn~s'; ls D;k uhfrxr ijke'kZ nsaxsa\
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OR

vFkokvFkokvFkokvFkokvFkok
Explain how investment function can be

estimated using the Neo-Classical approach.

Can we empirically estimate 'user cost of

capital' ? If yes explain some attempts made

in empirical literature as regards this.

O;k[;k dhft, fd fdl izdkj uo&'kkL=h; n`f"Vdks.k dk
iz;ksx dj fuos'k Qyu dk vkadyu fd;k tk ldrk gSA
D;k ge ^iwath ds iz;ksx ykxr* dk vkuqHkkfod vkadyu
dj ldrs gS\ ;fn gk¡ rks vkuqHkkfod lkfgR; esa bl
n`f"V ls fd, x, dqN iz;ksxksa dh ppkZ dhft,A

4. Given the following distributed lag model of

demand for money, estimate short run and long

run elasticities and interpret the result.

eqnzk dh ek¡x ds fn, gq, forfjr i'pkr izk:i ls
vYidkyhu ,oa nh?kZdkyhu yksp fudkysa ,oa ifj.kke dh
O;k[;k dhft,A
log Dmt = 0.48 + 0.76 logYt - 0.43rt + 0.73Dmt-1

‘t’ = (2.4) (4.8) (7.1) (3.2)

AdjustedR2 = 0.86

D
m
= Demand for Money, Y = GDP of the

Country, r= Rate of interest

D
m
= eqnzk dh ek¡x] Y = th-Mh-ih-] r= C;kt nj

OR

vFkokvFkokvFkokvFkokvFkok

Interpret the following linear demand function

of exports of a commodity. Also find the relevant

elasticities and draw relevant conclusion :

,d oLrq ds fn, gq, js[kh; fu;kZr ek¡x Qyu dh
O;k[;k dhft,A lanfHkZr yksp Hkh Kkr dhft, ,oa
ifj.kke ds vk/kkj ij mi;qDr fu"d"kZ fudkfy,A

EDt = 231.43+1.7Ywt - 0.98Prt + 0.87IOPt

‘t’ = (3.2) (5.4) (6.8) (7.3)

AdjustedR2 = 0.79

Mean Values of ED = 237, Yw = 18953, Pr =

1.8 and IOP = 35.8

vkSlr ewY;  ED = 237, Yw = 18953, Pr = 1.8 ,oa
IOP = 35.8

Where ED = Export Demand, Yw = World GDP,

Pr = Relative Price (Unite Value of Exports/

World Price Level), IOP= Index of Openness

tgk¡ ED = dk fu;kZr ek¡x] Yw = fo'o th-Mh-ih- Pr

= lkisf{kd dher ¼fu;kZr dk bZdkbZ ewY;@fo'o dher
Lrj½


